STA 4210 – Homework #2 – Due Oct. 17, 2014
1) Download the Explosives dataset. Fit a simple linear regression, relating the deflection of galvonometer (Y) to the area of the wires on the coupling (X). Complete the following parts. Conduct all tests at =0.05 significance level. Note: do not use the coupling number in the analysis.
a) the fitted equation,  and residuals
b) a plot of Y  vs X,

c) a residual plot of e vs X, 

d) a test of whether deflections are associated with area of the wires, 

e) Correlation test for Normality of Residuals  and a Normal Probability Plot 

f) Schapiro-Wilk test for normality

g) Brown-Forsyth test for constant variance
h) Breusch-Pagan Test for constant variance

i) F-test for lack-of-fit

j) Obtain “best” power transformation method, based on Box-Cox transformations

k) Obtain simultaneous 95% Confidence Intervals for 
l) Obtain an approximate 95% Confidence Interval for the Area of the coupling, when a deflection of 115 was observed (See section 4.6)

m) Obtain X’X, X’Y, (X’X)-1, beta-hat, MSE, and s2{beta-hat}
